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A word is represented by only one set of numbers as given in any one of
the alternatives. The sels of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘O’ can
be represented by 21, 56, etc., and ‘C’ can be represented by 44, 68, etc.
Similarly, you have to identify the set for the word “JACK”

U G Hael TH TEIT-EAF GRT oA T ¥, ok 6 fawent # @
ot o A G mar 31 el # By v dar-aeg R & g aut
gRT goie aw ¥ Star 5 B v o) eyt # R negp & raeA 3
Gfts & @Ea1 0 & 4 ¥ 3R eI H 5 F 91 39 ISP | TH W
M g 3FD R IR g F TAEH T S oA S ThAT B
3EIRAOT & forw ‘O’ @Y 21, 56, HIfE GRT GRAAT ST THAT § AU ‘C” Bl 44,
68, 3G GRT GRAT ST Thal &1 3 Re & U wa # By U
“JACK” & T Tap o ugaear &)

Matrix-I Matrix-il
3E-1 JrE-il
01112(3)| 4 5|16|(7|8|9
O[AIN|W|C|F 5|[S(O|Q|]A|U
1IH|IUID|Q|G 6| HIB|G|C|E
2|L|O|P[N|V 7(P|J[B|L]|T
3|K|E|IG|A|W 8IM|PII]|S]|Q
4| FIM|L|W|C 9[(X|(T|V]|J|K

Options:
1) 76, 00, 44, 99

2) 76, 33,42, 31
3) 98, 58, 04, 99

4) 98, 00, 69, 98
Correct Answer: 76, 00, 44, 99
Candidate Answer: 76, 00, 44, 99

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 98 TR IFhadl F ¥ 37 I G F gaw
Srw & uw gl Bfka B
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Options:
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Correct Answer:

VN

Candidate Answer:

N

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

Fig @ 3R FPA U FHa F uldwT F @
HIIN?

/f
\L]?
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Options:
1)

O [T

Correct Answer:

L=

Candidate Answer:

L=

QID : 206 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg o ZUT B AB YT W @ AT, & & T
IR APl A ¥ FiF o 3pia o e Hr
g ufafasa gef?

@ .k

ARk B
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Options:

3)

QID : 207 -
A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr & un gfaal A @ 3gErR @ @
HASH FTaa I Weld & ag I 7T 3R 3
St fearg game

0
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Options:

o0
o0

K

Correct Answer:

<

Candidate Answer:

QID : 208 - What will come in place of question mark (?) in the given equation?
3629212224 =2
fou 7 gefieRor o Uy g (2) & RIM W a1 3T

3679?12?24 =2
Options:

1)x, +and +

X, + dUl +

2) +, + and x

+, + dYUT x

3) +, xand +

-, X dYr +

4) +, xand +

+, X a4l +

Correct Answer: =+, x and +
+, X ddl +

Candidate Answer: +, x and +
-, X dYl +

QID:209-If19x7 +2=24and 21 - 14x2 =9, then

11x2+13 =7

fE19x7+2=24TU21 +14x2=978, @

11x2+13=7?
Options:

1)4

2)1

3)0

4)6

Correct Answer: 0
Candidate Answer: 0
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Plant
2. Prime
3. Photo
4. Pet

5. Place

fafafed Weal 31 UG H 3 ald HH & IR |

1. Plant
2. Prime
3. Photo
4. Pet

5. Place
Options:
1) 12354
2) 43512
3) 45123
4) 53412

Correct Answer: 43512
Candidate Answer: 43512

QID : 211 - In the following question,select the missing number from the given alternatives.
12, 22,42,52,72,82,102,?
fafafad uy & fou U fawedl # 9 g oi I1d Siforg|

12, 22,42,52,72,82,102,?
Options:

1) 112

2) 122

3) 132

4) 142

Correct Answer: 112
Candidate Answer: 112

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ACD, EGH, IKL, ?
TH 3gehd o a1 8, o ¥ Ue U g B U MU faw et W 9 a8 uet Ao g, S g d & T R

ACD, EGH, IKL, ?

Options:
1) MOP

2) NPO
3) MPO

4) NOP
Correct Answer: MOP
Candidate Answer: MOP

QID : 213 - In the following question, select the odd word from the given alternatives.

fafafad uy & fou T fawedl & 9 favw xeg &1 gFul
Options:

1) Wool

A

2) Rubber

5

3) Coconut

s

4) Apple
a9

Correct Answer: Wool
[

Candidate Answer: Apple

QID : 214 - In the following question, select the odd number pair from the given alternatives.

fafoRad gy ¥ U U fawed & 9 faww e gm & gl
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Options:
1)pS,7
2)3,5
3) 11, 13
4) 19, 29
Correct Answer: 19, 29
Candidate Answer: 19, 29

QID : 215 - In the following question, select the odd letters from the given alternatives.

Frofofaa wy & faw e fowedt & @ fawy eiert 1 gful
Options:

1) DFG

2) IKL

3) PRS

4) TVX

Correct Answer: TVX

Candidate Answer: TVX

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Earth, Venus, Planet

I8 3N 9T S = U U ovif & e & Tde B TE) T e 3

g, 716, 78
Options:
1)

2

—

®

3

4

Q) 1©

Correct Answer:

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.
Axe : Cut:: Needle:?

Fofafed wy & fiu Te ool # 9 Taifta wsg @1 g

W P PICAT: : '\3%’ Hird
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Options:
1) Cut
CAGIE

2) Sew
Ry

3) Dig

4) Magnify
ST PRl
Correct Answer: Sew

Candidate Answer: Sew

QID : 218 - In the following question, select the related number from the given alternatives.
32:9::53:?

frafafed uy & faw e fawedl & § defya I &1 gl

32:9::53:?

Options:

1)8

2)27

3) 125

4) 64
Correct Answer: 125
Candidate Answer: 125

QID : 219 - In the following question, select the related letters from the given alternatives.
ZK:UF::TO:?

fafRad oy ¥ U U fawedl & & Heifda sieri & gl

ZK:UF::TO:?

Options:

1) OI

2)PI

3)0]

4) PK
Correct Answer: OJ
Candidate Answer: OJ

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
FRAGRANCES

frafafed fowedl § ¥ a8 Wsg gAY S ST T Meg & 31&RT BT TN ISP g a1 off Havdl|

FRAGRANCES

Options:

1) PACES

2) FARE

3) GRANS

4) ACES
Correct Answer: PACES
Candidate Answer: PACES

QID : 221 - The ratio of the present ages of P and Q is 3 : 5. If after 12 years the ratio of ages of P and Q will be 9 : 13, then what is the present age (in years) of
Q?

P TUT Q 1 IIH MR BT U 3 : 5 31 A 12 I8 8T P TUT Q BT 3G BT U 9 : 13 B SE, T Q Y aiH 3T, (Il H) T 82
Options:

1) 24

2) 40

3)52

4) 36
Correct Answer: 40
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Candidate Answer: 40

QID : 222 - Pointing to a lady, Anuj said, "She is the only daughter of my mother’s husband". How is the lady related to Anuj?

TS A Bt 3R Thd B GU, SIS 3 Hgl, "8 B A1 & ufey &) v T 71" a8 Al e I fory UepR i g2
Options:

1) Mother

HIdr

2) Grandmother

3) Wife
el

4) Sister

CRE

Correct Answer: Sister
CREl

Candidate Answer: Sister
CRE

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All red are white.
II. No red is green.

Conclusions:
I. Some white are green.
II. Some white are not green.

H3 U U vy T 8 HUF IR I a1 37 HUA W NURd 8 Feey 3w e €, graifes 378 T gra at § s 8 ot g1 v sy ug ofR R Rufia
& R T o § frspy, faw 70 ot & SffyR R gfoaeimd &l

BY:
1. g+t et e g
I1. Y e &3 el &

e
1. $F T 8 3
IL. $© The &X Tel Bl

Options:

1) Only conclusion (I) follows.

FHaa s (1) T &1

2) Only conclusion (II) follows.

Paa ey (1) ¥d 21

3) Both conclusion follow.

gt & fred et B

4) Neither conclusion (I) nor conclusion (II) follows.
F 0 ey (1) 7 8 ey (1) I8t 2

Correct Answer: Only conclusion (II) follows.
Paa ey (1) ¥El B

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T d frsps (1) 7 8 ey (1) I B

QID : 224 - In a certain code language, "RAG" is written as "52" and "MUG" is written as "82". How is "JUG" written in that code language?

% AR g WIWT §, "RAG" ) "52" TUT "MUG" F! "82" foral TTaT 81 3T hIs HIWT H "JUG" ! by TR forar Simeem?
Options:

1) 76

2)75

3) 74

4) 78
Correct Answer: 76
Candidate Answer: 76

QID : 225 - In a certain code language, "SUN" is written as "TVO". How is "ARC" written in that code language?

% {1y Hig HToT &, "SUN" F! "TVO" foraT STl § | 39 HIS YW & "ARC" &1 fhg YR ferar wmerm?
Options:

1) BSD

2) BSE

3) BTD

4) DSC

Correct Answer: BSD
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Candidate Answer: BSD

QID : 226 - How many multiples of 2 are there from 1 to 100 which are not multiples of 3?

19100 F A 2 F T foram 70 § S 3 & U e 2
Options:
1) 50

2) 34
3)18

4) 22
Correct Answer: 34
Candidate Answer: 34

QID: 227 -
What is the value of /13 -4,/10 ?

J13-4./10 &1 AT Fa1 ¥2

Options:
1) vV8-+5

2) V8 + V5
3)Vv6-v3

4) V6 + V3
Correct Answer: V8 — V5
Candidate Answer: V8 — V5

QID : 228 - The product of two number is 145. If one of the number is 5, then what is the another number?

T SETef T qUAES 145 B UG T U1 5§, O gus) S 1 g
Options:
1) 39

2) 27
3)29

4) 31
Correct Answer: 29
Candidate Answer: 29

QID : 229 - Which of the following statement is true?

I. Odd x Odd x Odd = Even
II. Odd x Odd = Even

a7 @ o9 o By 9a 87

1. fawa x faw x faww = 99
11. fawe x fowy = 99
Options:

1) Only I
Fad I
2) Only II

Fad I

3) Both I and II

19T II ST

4) Neither I nor II

FAIaqn

Correct Answer: Neither I nor II
AWIAGI

Candidate Answer: Only II
&ad II

QID : 230 - Which of the fraction is greatest among 4/5, 7/8 and 6/7?

4/5, 7/8 U1 6/7 § A DI & i gord st &7
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Options:
1) 4/5

2)7/8

3)6/7

4) All are equal
T RR T

Correct Answer: 7/8
Candidate Answer: 7/8

QID : 231 - If x is an integer, then (x3 — x) is always divisible by which number?

e x TF Quiies &, & (x3 — x) o Tem & W fawnfora gt
Options:

1)4

2)6

3)8

4)9

Correct Answer: 6

Candidate Answer: 6

QID : 232 - Working 12 hours a day, Yash can complete a piece of work in 35 days. How many hours a day he should work so as to finish the work in 28 days?

UfafeT 12 92 Pl e, I forelt Bl 1 35 fa H Q1 R Wha1 §1 B HY 28 o H qHE PR & forw I vfafe fpam 9 Brd e g
Options:

1) 12

2) 15

3)18

4) 24

Correct Answer: 15

Candidate Answer: 15

QID : 233 - A can do a piece of work in 96 days. If B is 50% more efficient than A, then in how many days can B do the same work?

A foeft w1 ot 96 ot & X Gebel 21 afe B B BT erdT A F 50% 31 8, A I &1 Y B b fat & e
Options:
1) 48

2)32
3)24

4) 64
Correct Answer: 64
Candidate Answer: 64

QID : 234 - If the volume of two cubes are in the ratio 64 : 1, then what is the ratio of their edges?

& G & T BT U 64 ¢ 1 7, T ST YIS P SFUTT T 82
Options:

1)4:1

2)2:1

3)8:1

4)64:1
Correct Answer: 4 : 1
Candidate Answer: 4 : 1

QID : 235 - The marked price of an article is Rs 480 and is sold at a discount of Rs 72. What is the discount percentage?

TH % $T Siftrd G 480 T 8 AT I 72 T BI Fe W 1 91l 8| BT BT Tfad 31 82
Options:
1)5

2) 15

3) 10 E]

4) 12
Correct Answer: 15
Candidate Answer: 15
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QID : 236 - What is the net discount for successive discounts of 30% and 40%?

30% TUT 40% & & HAN Fe b Fiad (e) ge P SRR 82
Options:

1) 58

2) 42

3) 48

4) 40
Correct Answer: 58
Candidate Answer: 42

QID : 237 - Two numbers are in the ratio of 4 : 7. If 12 is subtracted from each, then the new ratio becomes 14 : 29. What are the two numbers?

B ST 4 : 7 3FUTA & §1 IS TS B Y 12 GETIT S df T4 SRUTT 14 : 29 B ST 31 &I WSS R 82
Options:

1) 40 and 70

40 TUT 70

2) 20 and 35

20 T 35

3) 120 and 210

120 T 210

4) 60 and 105

60 TUT 105

Correct Answer: 40 and 70
40 dYT1 70

Candidate Answer: 60 and 105
60 TUT 105

QID : 238 - If A/3 = B/5 = C/15, then whatisA: B : C?

Ife A/3=B/5=C/158, TA:B: CRN?
Options:

1)3:5:15

2)15:3:5

3)5:3:15

4)3:5:8
Correct Answer: 3:5: 15
Candidate Answer: 3:5: 15

QID : 239 - The average of 30 numbers is 40 and that of other 70 numbers is 60. What is the average of all the numbers?

30 T3l T 3NGd 40 TUT 3 70 TeTai T 3NEd 60 B 1 gt Temmaif &1 Sigd om 82
Options:

1) 54

2) 59

3) 61

4) 63
Correct Answer: 54
Candidate Answer: 54

QID : 240 - A man gains 70% by selling an article for a certain price. If he sells it at half the price, then what will be the loss percentage?

TF % $! el FfYd g R SaaR U AR 70% Y FUTI 71 S 98 39 a¥g bt ot Hod W 9=, o g1 &1 ufasra o g
Options:
1) 10

2) 12
3)15

4)8
Correct Answer: 15
Candidate Answer: 15
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QID : 241 - If the cost price of 6 articles is equal to the selling price of 8 articles, then what is the loss percentage?

T 6 TEgail 1 Y Hed 8 TEG3N & f3ehT Yed P SRIeR €, ol g1 widwrd & g
Options:

1) 20%

2) 25%

3) 10%

4) 15%
Correct Answer: 25%
Candidate Answer: 25%

QID : 242 - If income of Kamal is 40% more than the income of Raman and the income of Raman is 20% more than the income of Aman, then the income of
Kamal is how much percent more than the income of Aman?

T HUT B 3T, I B 3T T 40% 3HRIH T TUT T B 3T, T DT 3 T 20% 34D B, T HAA BT 311, 30 Bt 319 F ) ufaa eifdew grft?
Options:

1) 20

2) 60

3) 68

4) 66
Correct Answer: 68
Candidate Answer: 68

QID : 243 - In a school 45% of the students are girls. If number of boys is 660, then what is the total number of students in the school?

T faermer & 45% faanelf wrefeal €1 it crew! Bt ¥ 660 B, o W J Fa fha fendf &2
Options:

1) 1080

2) 1200

3) 1320

4) 1440
Correct Answer: 1200
Candidate Answer: 1200

QID : 244 - Speeds of a boat along the current and against the current are 12 km/hr and 6 km/hr respectively. What is the speed (in km/hr) of the current?

TH 19 B T YRT & 3IHa quT YRT & Ufapd = & swasr: 12 3.7, /5er aut 6 {5 /der 31 ury ot 7ifey (Fp. =it e &) @ 82
Options:

1)2

2)3

3)4

4)9
Correct Answer: 3
Candidate Answer: 3

QID : 245 - Aman can cover a certain distance in 30 hours if he walks at the rate of 5 km/hr. If he covers the same distance on a scooter at the rate of 10 km/hr,
then what is the time (in hours) taken by him?

%WS%ﬁ./WEﬁTﬁ%ﬂﬁFﬁaﬁwﬁ@ﬁ@ 30 5 B q9 9% AT ¥1 I I8 9 g Tpex W 10 b /ger B Y I qw B @) I v gy (€6 H)
?

Options:
1) 12

2) 15
3)20

4) 25
Correct Answer: 15
Candidate Answer: 15
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QID : 246 - A amount becomes 9 times in 32 years when kept in a scheme of simple interest. In how many years will it become 19 times?

TH Y-RIRT YR ST ITelt Aot H Fa7 e TR 32 99 H 9 71 §) Wielt 81 98 19 T fobe ast & g1 Swht?
Options:
172

2) 64
3)78

4) 84
Correct Answer: 72
Candidate Answer: 64

QID: 247 -

The pie chart given below shows the expenditure
made by Sulekha per month. Monthly salary of
Sulekha is Rs 50000.

Hr T 1 g9 R & oo I g% A R
AT T H AT AT g For@r H AMAS HT

50000 T3 B
Food / sit=raT, Enter.tainment/
79 AALST, 36°
Saving / =1,
54°
Education/
fRvedT, 108° Rent / fasram,
90°

What amount (in Rs) does Sulekha spent on food per month?

JAET 3 HISH R gds {18 fha-t A (30l H) o5y Bt 82
Options:
1) 10000

2) 5000
3) 1000

4) 60000
Correct Answer: 10000
Candidate Answer: 10000
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QID: 248 -

The pie chart given below shows the expenditure
made by Sulekha per month. Monthly salary of
Sulekha is Rs 50000.

der e arv g9 RS & gewr v g3aw A R
AT T HN AT AT g For@r Hr AMES HT

50000 T I
Food / sirsr, Enterjtainment/
5 HARSA, 36°
72
Saving / 9,
54°
Education/
fve, 108° Rent / f&szram,
90°

What is the difference in the amount (in Rs) spent by Sulekha on food and on rent?

AW GRT HISH TUT TR R g 31 78 AR (FUT H) BT SR 1 82
Options:

1) 25000

2) 2000

3) 2500

4) 1500

Correct Answer: 2500
Candidate Answer: 2500
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QID : 249 -
The pie chart given below shows the expenditure

made by Sulekha per month. Monthly salary of
Sulekha is Rs 50000.

der e arv g9 RS & gewr v g3aw A R
AT T HN AT AT g For@r Hr AMES HT

50000 T I
Food / sirsr, Enterjtainment/
5 HARSA, 36°
72
Saving / 9,
54°
Education/
fve, 108° Rent / f&szram,
90°

What is the monthly expenditure (in Rs) of Sulekha on education?

AT &1 e R Tiie o (U H) T 7?
Options:

1) 1550

2) 20000

3) 15000

4) 1500
Correct Answer: 15000
Candidate Answer: 15000
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QID : 250 -

The pie chart given below shows the expenditure
made by Sulekha per month. Monthly salary of
Sulekha is Rs 50000.

der e arv g9 RS & gewr v g3aw A R
AT T H AT IAT gl Gordr H ANEE HF

50000 T I
Food / si=ieT, Enteﬁainment/
5 HARSA, 36°
72
Saving / 9,
54°
Education/
fevem, 108° Rent / f&szram,
90°

What is the total amount (in Rs) spent by Sulekha in food and entertainment per month?

o A IS qUT FARSH IR YAE T8 Fl fbaH1 IR (30 H) 3 3 82
Options:
1) 2000

2) 20000
3) 15750

4) 15000
Correct Answer: 15000
Candidate Answer: 15000

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Having conquering this (1)/ space, it now plans to foray (2)/ into new one. (3)/ No Error (4)/
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

You should submit duly approved (1)/ invoices well (2)/ at time. (3)/ No Error (4)/

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3
Candidate Answer: 3

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

This building comprises forty rooms.
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Options:
Do
2) of
3) off
4) with
Correct Answer: of
Candidate Answer: of

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Niharika her matriculation examination in 2008.

Options:
1) completed

2) passed
3) performed

4) obtained
Correct Answer: passed
Candidate Answer: passed

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rumour

Options:
1) Proof

2) Hearsay
3) Truth

4) Reality
Correct Answer: Hearsay
Candidate Answer: Hearsay

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Vicious

Options:
1) Nice

2) Pleasant
3) Cruel

4) Gentle
Correct Answer: Cruel
Candidate Answer: Cruel

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Exempt

Options:
1) Answerable

2) Liable
3) Immune

4) Responsible
Correct Answer: Immune
Candidate Answer: Immune

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Marginal
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Deoe
2) Minor
3) Negligible

4) Small
Correct Answer: Core
Candidate Answer: Core

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Shabby

Options:
1) Dingy

2) Faded
3) Mean

4) Nice
Correct Answer: Nice
Candidate Answer: Faded

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Provisional

Options:
1) Limited

2) Temporary
3) Definite

4) Conditional
Correct Answer: Definite
Candidate Answer: Definite

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Vis-a-Vis

Options:

1) The other way around
2) In relation to

3) To complete

4) Contrary to

Correct Answer: In relation to
Candidate Answer: [ NOT ANSWERED ]

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Wheels within wheels

Options:
1) Hidden enemy

2) Side by side
3) Course of time

4) Complication
Correct Answer: Complication
Candidate Answer: Complication

QID : 263 - Improve the bracketed part of the sentence.

I (was lived) there five year ago.

Options:

1) had lived

2) live

3) has lived

4) No improvement

Correct Answer: had lived
Candidate Answer: had lived
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QID : 264 - Improve the bracketed part of the sentence.

The criminal had (ran away) from the crime site

Options:
1) run

2) fled
3) escape

4) No improvement
Correct Answer: fled
Candidate Answer: escape

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Any soft drink except water

Options:
1) Cocktail

2) Gourmet
3) Beverage

4) Usury
Correct Answer: Beverage
Candidate Answer: Beverage

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Belief not based on reason or knowledge

Options:
1) Concept

2) Fact
3) Ritual

4) Superstition
Correct Answer: Superstition
Candidate Answer: Superstition

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Muntenance

2) Mantenance

3) Maintinance

4) Maintenance
Correct Answer: Maintenance
Candidate Answer: Maintenance

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Manufacture

2) Manofacture

3) Manufacure

4) Manufachure
Correct Answer: Manufacture
Candidate Answer: Manufacture

QID : 269 - Rearrange the parts of the sentence in correct order.

India wants

P: nations and is

Q: hostile towards none
R: goodwill of all
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Options:
1) QPR

2) RPQ
3) PRQ

4) RQP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in correct order.

Arteries are

P: which blood is going
Q: blood vessels in

R: away from the heart

Options:
1) RPQ

2) RQP
3) PRQ

4) QPR
Correct Answer: QPR
Candidate Answer: QPR

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Last weekend I to the beach with my parents. There were many vendors on the beach. I could see a few children making a castle. The waves
destroyed it. The kids were sad for a moment the next moment decided to make a new one further away from the waters. Far away in the sea, I
could see a ship. A soothsayer came to me saying that it was a bad day for her and started my palm.

Last weekend I to beach with

Options:
1) go

2) went
3) gone

4) going
Correct Answer: went
Candidate Answer: went

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Last weekend I to the beach with my parents. There were many vendors on the beach. I could see a few children making a castle. The waves
destroyed it. The kids were sad for a moment the next moment decided to make a new one further away from the waters. Far away in the sea, I
could see a ship. A soothsayer came to me saying that it was a bad day for her and started my palm.

children making a castle.

Options:
1) sand

2) mud
3) air

4) water
Correct Answer: sand
Candidate Answer: sand

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Last weekend I to the beach with my parents. There were many vendors on the beach. I could see a few children making a castle. The waves
destroyed it. The kids were sad for a moment the next moment decided to make a new one further away from the waters. Far away in the sea, I
could see a ship. A soothsayer came to me saying that it was a bad day for her and started my palm.

moment the next moment

Options:
1) and
2) for

3) but

4) since
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Correct Answer: but
Candidate Answer: but

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Last weekend 1 to the beach with my parents. There were many vendors on the beach. I could see a few children making a castle. The waves
destroyed it. The kids were sad for a moment the next moment decided to make a new one further away from the waters. Far away in the sea, I
could see a ship. A soothsayer came to me saying that it was a bad day for her and started my palm.

decided to make a new

Options:
1) them

2) they
3) we

4) us
Correct Answer: they
Candidate Answer: they

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Last weekend I to the beach with my parents. There were many vendors on the beach. I could see a few children making a castle. The waves
destroyed it. The kids were sad for a moment the next moment decided to make a new one further away from the waters. Far away in the sea, I
could see a ship. A soothsayer came to me saying that it was a bad day for her and started my palm.

her and started my palm.

Options:
1) eating

2) beating
3) hating

4) reading
Correct Answer: reading
Candidate Answer: reading

QID : 276 - What is the full form of NNP?

AT T SRifE ¥ w72
Options:

1) Normal National Product
A A= vrede

2) Normal Net Product

Ife e Meae

3) Net National Product

¢ AR Wede

4) Net Normal Product
Anfa Meae

Correct Answer: Net National Product

NIRRT

Candidate Answer: Net National Product

QID : 277 - A country with high per capita income is developed than others with less per capita income?

T 3ifies TR afeRT SiT AT =1 3T B TR AfeRT S AT =n faefia g &2
Options:

1) More

3HfYH

2) Less
wH

3) Equally
ENELY

4) Evenly
A

Correct Answer: More

Candidate Answer: More

QID : 278 - Which part of Indian constitution deals with ‘citizens"?

YR GRAYM BT B I1 HIT TRIRGAr & TR H T 82

Download More Paper@From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
Options:
1) Part I
HIT I
2) Part II
HATII
3) Part III
HIT 111
4) Part IV
HAT IV

Correct Answer: Part II
HRT 11

Candidate Answer: Part II
HIT 11

QID : 279 - Out of 245 members of Rajya Sabha how many member are nominated by president?

I HT & 245 GEW! # Y P fba AUl gRT A1 fopT ol &2
Options:

1)10

2)12

3) 14

4) 16

Correct Answer: 12

Candidate Answer: 12

QID : 280 - Which Varna was at the first place among the four known varnas?
IR S A Ui § § Ugd R R S 91 0 41

Options:
1) Brahmin

EIRLE
2) Kshatriya

.

3) Vaishya
=
4) Shudra
s

Correct Answer: Brahmin

:

Candidate Answer: Brahmin
EIRE

QID : 281 - In which year English East India Company made its first apperance in India?

g v ofiisht $¥e Efear Ful, YRd # Ugdl SR Il g8 df?
Options:

1) 1498

2) 1615

3) 1608

4) 1650

Correct Answer: 1608
Candidate Answer: 1608

QID : 282 - What is the position of Venus from the Sun among the eight planets?

36 U5 A Y g T BF § ®E W Rya 32
Options:

1) First

g

2) Second

T
3) Third
GIGR

4) Fourth
E10)

Correct Answer: Second
Candidate Answer: Second

RN

QID : 283 - 237 degrees south latitude marks what?

23, 3w el afaiiw & gwian &2
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Options:
1) Tropic of Cancer

2) Tropic of Capricorn
o @
3) Arctic Circle

IR Yd (3hfew) aa

4) Antarctic Circle

SfRT 4a (sferéw) aa

Correct Answer: Tropic of Capricorn
THR Xl

Candidate Answer: Tropic of Capricorn
TR T

QID : 284 - Which body part helps fishes to use oxygen dissolved in water?

TS & YRR BT B T HAT I ofd § 419 o1 H JgTIaT T 82
Options:

1) Fins

G|

2) Tails

98

3) Gills

1 (@)

4) Scales

R[eh

Correct Answer: Gills
1 (@)

Candidate Answer: Gills

et ()

QID : 285 - Where do the energy-capturing reactions of photosynthesis occur?

THTY LA B Spolt SR SHfpamt del T B 52
Options:
1) Cell wall
i
2) Cytoplasm
)
3) Stroma

4) Thylakoids

Correct Answer: Stroma

Candidate Answer: Cell wall

HifreT o

QID : 286 - Which one of following is called pace maker of the heart?

BT B UTADHR HEadl 8?2
Options:

1) SA node

wuAs

2) AV node

TS

3) Chprdate tendinae

4) AV septum

T dl JgH

Correct Answer: SA node
wuAs

Candidate Answer: SA node
WS

QID : 287 - What is the to and fro or back and forth motion of an object called?

foreft avg % SER-IR A1 3 iy B areht I Y R e B2
Options:

1) Friction

oy

2) Vibration
U

3) Amplitude
S{H

4) Frequency

Correct Answer: Vibration
B
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Candidate Answer: Friction

QID : 288 - The image formed by a concave mirror .

fde U gRT &1 uffs gl
Options:
1) is always real

2) is always virtual

MU Ehell B
3) may also be real or virtual
IR Sryar Ut 8 T §
4) is neither real nor virtual

7 4 IR | g MU g §

Correct Answer: may also be real or virtual

RIS 3T MU 1 B b §

Candidate Answer: is always real

QID : 289 - Which of the following is NOT an application software?

ST | P 1 TH SR IR e 32
Options:
1) MS Word

LR ICR
2) Adobe Acrobat

3) Linux

4) Java
SIcl

Correct Answer: Java
SIEN

Candidate Answer: Linux

QID : 290 - A metal which is a poor conduction of heat is .

FHI HITH FAAH U1 ol
Options:

1) lead

Esiesif

2) gold
ikl

3) zinc
4) Iron

Correct Answer: lead

Candidate Answer: lead

QID : 291 - Bleaching powder is ;

=R UGeR BT gl
Options:

1) Ca,0Cl

2) Ca0Cl,

3) CaClo,

4) CaCly

Correct Answer: CaOCl,

Candidate Answer: CaOCl,

QID : 292 - In which of the following processes oxygen from the atmosphere is not used up?

o & 3 o I uftea 7 sifeiier &1 IuanT T giare
Options:

1) Combustion

ggd

2) Respiration

ERAl

3) Formation of oxides of nitrogen
gere &1 sHfawrss fmfor

4) Photosynthesis

YD

Correct Answer: Photosynthesis
ECaRk
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Candiqate Answer: Photosynthesis
ThIR

QID : 293 - What is the name of the app launched by the Government to track Rural Household Electrification?
Ireftor TR FARReRUT #Y S HRA & oY WRBR GRT YF BT T AU T 1 A1 82

Options:
1) BHIM
tlies

2) GARV-IL
3) URJA
ot

4) UIALA

Correct Answer: GARV-II

Candidate Answer: URJA

QID : 294 - Who discovered the circulation of Blood?

I & YRR &1 WS fobem o172

Options:
1) Louis Braille

22 George East man

3) Robert Koch

I B

4) William Harvey

faferam g

Correct Answer: William Harvey

Candidate Answer: Louis Braille

TS S

QID : 295 - Apurvi Singh Chandela is associated with which sport?
3rgdf Rig =2 fore Ba I et g8 &2

Options:

1) Badminton

ag i'a

2) Wrestling

3) Shooting

4) Kayaking

BT

Correct Answer: Shooting

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which among the following is NOT a classical language?

Fofofad & @ S O v el v A8 82
Options:

1) Bhojpuri

2) Tamil

GIEK)

3) Sanskrit

U&pd

4) Kannada

DAS
Correct Answer: Bhojpuri

Candidate Answer: Bhojpuri

QID : 297 - Who won the 2016 Nobel Peace Prize?

2016 T ifd REBR fg sfiar
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Options:
1) Malala Yousafzai
AT JYHS
2) Juan Manuel Santos
FaHM s
3) Kailash Satyarthi
e T
4) None of these

Correct Answer: Juan Manuel Santos
A A3 A

Candidate Answer: Juan Manuel Santos
FHH A3 I

QID : 298 - Who is the author of book named “Julius Ceaser”?

e HioR” G Y% & oD B 82
Options:

1) William Shakespeare

faferam JeadiR

2) G.B. Shaw
SiLdL. =

3) Salman Rushdie
T BT

4) Charles Darwin

ElISESICE]

Correct Answer: William Shakespeare

Candidate Answer: William Shakespeare

QID : 299 - India and have signed Logistics Exchange and Memorandum of Agreement (LEMOA) to use each other’s bases for repair and replenishment of
defence supplies.

YRS qT J & Syl @ TRa IR g & R0 Ue g & 31 BT ST A 2 198 TR SiR THII (THSUHSNT) TR gEaR U 81

Options:
1) The United states of America

T I SARBT
2) Russia

=4

3) France

ean)

4) Britain

Correct Answer: The United states of America
Tga g SR
Qandidate Answer: The United states of America

RECSISE]

QID: 300 - The and India have been conducting a series of Coast Guard inaritime joint training exercises codename “"DOSTI" since 1991.
TUT YR 1991 ¥ "Gl ATHS deReid T Tgad UTRI&0T SNl 3 U Jaar Smaiford o 38 8

Options:

1) Maldives

2) Nepal

BEIS]

3).Myanmar

THER
4) Pakistan
T

Correct Answer: Maldives

Candidate Answer: Maldives
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